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SN BRD
A A BNHcHE KX (LBISSUT/LBHHE)
R XE g & U2ARIEN |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 10,000 0 10,000
= 3,000
Al 7,000
04 CIZHHAMAMH 2 & 10,000 0 10,000
Oblz=Ald s& - s - S&ES ?Ig Z27]
8 =24 10,000,000 *14] 10,000
=S 3,000
Al 7,000
H=Ard S22 A 400,000 0 400,000
< 120,000
Al 280,000
401 Al HIZL 01| 400,000 0 400,000
= 120,000
Al 280,000
01 Al&H| 390,960 0 390,960
OGEAR S22 28
400,000,000&%97.74/100 390,960
S 120,000
Al 270,960
02 2/l 6,160 0 6,160
O z=A S22 2
400,000,000& *1.54/100 6,160
08 Al& S THYI 2,830 0 2,880
OOIZ=AR 222 218
400,000,000& *0.72/100 2,880
QAXME 28 X2 1,656,460 1,836,970 /180,510
FOIXXIME StA 363, 160 374,500 211,340
201 fer=3| 4,500 5,000 A500
01 AtR2t2|HI 4,500 5,000 A500
Oget=EH| 4,500
og2 'FOUNR, BII7R=R
100,000& »455 4,500
202 04l 540 1,780 A1,240
01 =LHAHI 540 1,780 1,240
O=FEE OIS S3MY 2 K&
e 20,0003 2 1 <8 320
O&==0XKe s &2
110,000 x2E* 12 %13 220
301 EtE NS 129,720 139,320 29,600
14 IIEt2 8= 129,720 139,320 /9,600
OXXIME 2SX3 NG SAHL AHI 24
20,0003 x 162 +202* 12 76,800
OXXIHE AZ2E NESAHA 2a=
150,000 x23E * 122 41,400




2A: SR
HzH: A1 SHHoHE KIXISHE (Let2 2N /2 BshA)
el FUXXNME 28 X2 (SH9 H2)
. _ S[E]
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
ORIME ER2Y NBSML 243
20,0002 x2A| 2H6IH A *x43| x 12 11,520
303 ZAZ 3,400 3,400
01 a3 3,400 3,400
OFIXXHEH 29 SeEI} 3,400
oX|R4 700,000 * 100 2 700
o £ A 500,000 *30H 2~ 1,500
ol & & 200,000 x6IH 2 1,200
307 S1ZH0| & 225,000 225,000
02 OIZIEAMAIE B X 225,000 225,000
Q20243 & F0IXIX| ESFALY
100,000,000 = 1A 100,000
Q20243 & F0IXIXIS FOFEEE DS AR
E3IAS 120,000,000 x 14! 120,000
OF2FO0IXXIEES] 2=Atell 22 X&
5,000,000 10 &~ 5,000
FOIXIX] S&F 43} 84,180 9%,580 212,400
201 LEr2AH| 4,600 5,000 A400
01 AFR2 22|t 4. 600 5,000 A400
Ogt=EH]| 1,200
oF0ITIX FAE(NK) ANIREE S
200,000 *x25*23| 800
o=0IXIX /IAE(WE) PTHIZE
200,000 +2= 400
OYx= 3,400
oF0IXX |IASE(NE) 392 H&a2
200,000 *x23| 400
o F0IRIX| SaAtdl #HIXI02 Xt X
1,500,000 «23| 3,000
301 LEIENZ 75,580 87,580 A 12,000
11 SHAAIHI KR 2 54,000 54,000 0
OFLIXX 2=Aldl HIX|I0F AldH]
30,000,000 x 14! 30,000
OFOIXXF3 KOHZEA SHAF &AL AlYH|
50, 000& 20 23| * 120l A~ 24000
14 JIEIB A2 21,580 33,580 A 12,000
OF0IXXI(3]) /¥ 2|2 ASetNE AlH|
50,0002 x20H *x3 3,000
OF0IXX Zd, E23| S &4 AlYH|
50,0002 %10 %1 500
O =AIFUXXIE S A3l EAXE A
]l 30,000 #48H = 12& 17,280
OFCIRX 2l A& (NE) 2A =2
400,000 23| 800
307 SIZH0| & 4,000 4,000
12 Q1201 E N FH| 4,000 4 000
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M A EHGHE XIS (LS ST /UBHEH)
e FULXAE 28 X3 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OFoXXIFIE B2 SenSy|
200,0002 20 4,000
FOXXIHEH K& 1,037,920 1,015,725 22,195
201 Ler2 | 184,800 193,767 A8,967
01 At 22|l 93,600 98,400 A4,800
OgEt=2H| 81,600
o=QIXXIME 2EH|
400,000 1700 A% 123 81,600
ozzIgAY| 12,000
SZEQITXIME D0IAH| YStHas
100,000 109 2+ 122 12,000
2 S=29| 91,200 95,367 N4 167
O3s22 ¥ HA 72,000
oFUXXHEH S22
600,000& *10J 2+ 12 72,000
OAE&EHIR XU 19,200
o FOIXXIME AlZEHIRAIHI
800, 000 *24JH 2~ 19,200
202 04d| 320 960 AB40
01 =W OdHI 320 960 2640
OF0UXX SRFA
20,0003 =2H 1«8 320
301 LPBENZ 756,000 702,000 54,000
14 J|EI2 A3 756,000 702,000 54,000
OF2UXRI(3]) |& sl &4 Al
30,0002 *700H 122 252,000
O=F0XXHE Z2)8 A=
350,000 x 12001 122 504,000
307 212+01 A 1,917 1,743 174
06 283 1,917 1,743 174
O=FCIXXIHE 2tAL S KR SALAL Ao
=)= 79,8003 *24H 1,917
401 A& B 20HY| 10,000 26,950 216,950
01 Al&HI 10,000 26,950 16,950
Os&H 10,000
o FDITIXIME ARA B
10,000,000 & * 14! 10,000
405 KHHESH| 84,883 90,305 N, 422
01 ML =SEFSHI 84,883 90,305 A5, 422
O=ers 2,020
oz2s)|+ 2,020
—HMAEZYAHAI(AR)
2,020,000 14 2,020
O4chH 2,134
SHFE (&) 1,067,000 *20H 2,134
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500,000 *1K
958,000 * 1K
109,000 = 1CH
387,600 *1H
649, 0003 *1H
69,9003 *2JH

600, 0003 *1H
450,000 8K

900, 000& *1H
,790,000& 17K
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320,000 *1H
290,000 * 1K
400,000 2K

2,690,000 *1 K

200,000& *1H

6,692,000& +2CH

3,813,000 «1CH
130,000 * 107K
100,000 & +5H

2,250,000 10K

574,200 6K

1,139,000 *10H
591,500 2K

3,124
880

380
500
958
109
388
649
140
4,200
600

600
3,600
2,690

900

900
1,790
1,410

320

290

800
2,690
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2,690

200

200

18,997

13,384

3,813
1,300

500
2,250
2,250
2,250
7,095
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2N S2D
M AQID BNGHE KIXISE (LD IHE/ULHE)
ol FUAXEE 28 X (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o2H0H013 AID[(A7)
663, 5002 *2H 1,327
OUAS 2,600
2807 2,600
— AN (THR) 2,600,000 %174 2,600
onlEs 3,650
o= =2 HOFALKIOHE (THAI)
2,980,0002 %174 2,980
o HHI& (THAI) 670,000 %1} 670
OsEs 1,229
o280 600
—CISRIZEARIT(AITF)
200,00024*1H 200
-2 EHIXI(AI7) 400,000 %104 400
o HHHIE(A) 629,000 * 1K 629
ogtes 3,624
oot RH(CHA) 2,450,0002 %174 2,450
o001 (AT 120,000 %174 120
©IHH| % (900%350%2000) ( Al 77)
272,00024 %3 816
< I HIX! (800+4001880) (&l 7)
238,00024 %1} 238
oNss 6,300
oChIs=8I(d)
5,000,000 %14 5,000
oL ES(4I57) 1,300,000 *1JH 1,300
OANES 6,9%
oF(A) 220,0002 % 151 3,300
S (AlTH) 25,0002 % 150 375
S A= (4l7) 170,000 2 6K 1,020
SEIXYRI(AT) 1,150,000 «2JH 2,300
O0&Es 3,675
o QIIHE (A7) 28,0002 «30H 840
oERZR(AIF) 1,350,000« 1CH 1,350
OoRF(477) 715,000 %174 715
o0|SE WO Y ALFH(AR)
770,0002 %104 770
OSHE FOUNKME =5 L AR 22 2
g 10,000,000 % 14! 10,000
FOIXIX BHOLS Th3 23,000 23,000 0
307 QI2H0| & 23,000 23,000
04 DIZFHAIAIH B X 23,000 23,000
OFQIXIXI &H0HS ThE
23,000,0002! % 14! 23,000
FOIRIXIE A 29 148,200 147,165 1,03




SN BRD
M A EHGHE XIS (LS ST /UBHEH)
e FULXAE 28 X3 (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
201 Let2| 81,000 80,200 800
01 Ar2eltl 46,000 50,200 24,200
Oget===H| 46,000
oF=0IXXI2 22|
500,000 71 2+ 123 42,000
ozetel FUXXIEW 2|
333,330« 123 4,000
03 A2 EH| 35,000 30,000 5,000
O=81E3 Mzl XA
5,000,000 *7JH 2 35,000
301 LEtBEF 67,200 66,965 235
14 JIEI2 43 67,200 66,965 235
O=CIXXI3| 2tAF &H| 24
20,000 +2A| 2bx7H <202 * 12 67,200
HHY2AZHI(S2) (DIEH/IIE 46,221,558 46,151,649 69,909
ol 40,210,925 39,301,665 909,260
olERIHI(B) 40,210,925 39,301,665 909,260
101 el t| 12,338,856 14,655,682 22,316,826
01 2= 11,387,022 12,748,806 A1,361,784
O&ANZ(1,835H)
6,360,000,000& 13| 6,360,000
OZE X+ 900,000,000 * 14! 900,000
ORI &Y 10,000,000 & * 14! 10,000
OAlZte 2R+ (xz) B2l 4,032,652
65 12,5312 +344Z +57 Al 2t 123 50% 1,474,248
o7= 11,319 x262F #57 A| 2H+ 123 *50% 1,014,228
=8= 10, 1622 1615 +57 Al 2t 122 x50% 559,541
=9= 9,620 x288% #57 A| 2+ 123 *5(% 947,532
oMzAHZ(LIT)
11,8623 x G +57 A 2H 122 +50% 4,057
S HAPAL 12,0782 x8H 57 A| 2t 123 x50% 33,046
OAIZI2I2242 ZE(MAXA) 70,787
o=bg 14,6923 x3H +57 A| 2t 122 *50% 15,074
Slo= 12,5313 x 13 +57 A| 2= 123 x50% 55,713
OANZIRI2R24Y =2 (RAIEA HIA) 13,583
7= 11,3192+ 12+ 100Al 2H+ 123 13,583
02 JIEtAE = 891,103 949,004 257,901
MRS ASIEE BE2 117,533
SAUEE(Z2AHZ, 2L, D&, &)
1,048,359, 0002 *10.757% 112,772
oL oA QATH
37,164,320 %12.81% 4,761
OIINH SR AlZI2d 23 177,339
oxbIALEH 3,007,441,0002 *3.545% 106,614
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. AY2IZHI(S2) IR
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oL Q) QAEH
106,613,780& *12.81% 13,658
ong=s 3,007,441,00021+0. 9% 27,067
SAULE U NBPH AL
30,000,000 *14! 30,000
OFAZE M2EE RE= 146,314
o=xDIAYEH 2,197,069,000& *3.545% 77,887
oL QI QUEE
77,886,090 12.81% 9,978
clIEEE 2,197,069,000& *1.75% 38,449
cAATH U DY iz
20,000,000& » 14 20,000
O AINMBSRE AMAZ Y T2 63,597
S 12,5313 4 +57 Al 2Hx 122 +50% 17,143
olg 11,319 12 #57 Al 2H+ 123 #50% 46,454
OAIZIHZIIHZ 2R Aol 224y
Z= 46,077
oli=g 12,5313 1 #57 Al 2H 122 50% 4,286
olt= 11,3192 9 +57 Al 2Hx 122 +50% 34,840
S = 10,1623 2 +57 Al 2Hx 122 x50% 6,951
OUR53RE AAA22+E T2 190,007
org 11,3192 x2Z x30A1 2+ 123 8,150
Si= 9,620 x50 *30Al 2+ 122 173,160
oA A 12,0782 2 +30A 2t 122 8,697
OFHZE ANAAZRE == 10,236
odd 10,556 * 1 #57 Al 2H 122 +50% 3,611
o= 9,685 x2Z+57 Al 2H+ 12 x50% 6,625
OZATE da0i=(423)
140,000,000 12 140,000
03 SRA(RIH )22 U2+ 60,731 957,872 A89Y7,141
ONEIIEE R
15,9512 x 9 *20 Al 2t 12 *150% 51,682
Oga MY YRR
134,056 *32 152 % 150% 9,049
M4 HASFESS 27,872,069 24,645,983 3,226,086
01 d=28=s 20,696,349 18,232,439 2,463,910
OS8R d=sF8= 20,696,349
oEZRHASRES & Bd=s
133,019,916, 0002 *18. 9%*94 . 73%+75% 17,861,885
oERHEANFHRES
133,019,916,000& »2.8222%*94. 73+ 75% 2,667,186
oMM EE=
133,019,916,0002 0. 177%+*94. 73%+7 5% 167,278
2 =822 = 4,272,164 4,463,263 191,099
OZR% =0HLEE FE= 4,272,164
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2A: B2
M HN2AAY(S2) (JIEHDIE
&5l =2l (Cte &)
SA - ZE - B2(30) - HRAS of v e HIDE2
CMFEEEHAZN It
47,467,530 % 14! 47,468
OAIEZEHIS XY 4,220
SHMAIIE SUAAH X B4 2
4,220,000 %14 4,220
202 04| 52,080 56,020 3,940
01 2404l 52,080 56,020 3,940
S22 HN2NFoI| 360,000 *30H 10,800
OXASEBEIA 2 L 2SAAER 2
HAY HAPFEX
20,0002 x2 Y+ x 128 960
OFRUAY SH(AEZAL
20,0002 *1H*22 % 122 480
OBRX LAIGIe MM T2 29
110,000 40 x3 13,200
ORNEZZ SUH 26,640,000 3 14! 26,640
203 YR FZY| 256,110 259,267 N3,157
01 J| 22 LLFAY| 188,040 188,040 0
OAIZ 108,000,000 x1H 108,000
OBAIE 74,040,000+ 1 74,040
OHEF A IE 6,000,000& 6,000
02 HAJMAD=ZAIY| 61,710 64,927 NA3,217
OzA% XA ADIXE ZH(HE 1,338%)
31,710,000+ 14! 31,710
OXE =53 3 &It XYH L =AY
pNE== 30,000,000 * 14! 30,000
M PASILLEY 6,360 6,300 60
Os2RH(56ZH)
(400,00024+(5,00024 %26 ) )x 122 6,360
olERHH(S - & - =) 2,106,696 2,616,195 A509,499
HARAH(E - ¥ - &) 2,106,6% 2,616,1% A509,499
101 QIAH] 2,106,696 2,616,195 A509,499
01 82 1,642,731 2,196,745 A554,014
OAIRA224Y T2 1,642,731
o6z 12,5314 %121 #57 Al 2Hx 1224 %50% 518,558
o732 11,3192 %812 %57 Al 2H+ 122 +50% 313,559
o82 10, 16221 %127 57 Al 2Hx 122 x50% 441,377
o9z 9,620 %111 *57 Al 2H+ 122 x50% 365,195
oXIE=(A2H)
11,8162+ 12 %57 Al 2H+ 122 «50% 4,042
02 JIEHRI 24 105,264 91,757 13,507
OAZRA2 24 T2 (ARLSE)
9,620 30 *20A| 2+ 128 69,264
O=UHHBI(AR+&2HA)
100,000 %302 * 12 36,000
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. AY2IZHI(S2U) OIEHIIE
Cel: A2 HHI(E - ¢ - &) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 SR (RINAHA) 222+ 368,701 327,693 31,008
OARISI 2242 S S) 263,982
oBRN(SHAR)
13,480 x30 & *20A| 2t 12 x150% 145,584
o205
15,6613 *21 2 *20A1 2t 12 +150% 118,398
Orda22*g(8Hs) 94,719
o0t
125,280 %2122 x 12 *150% 94,719
23S - & - 8) 3,286,428 3,601,410 A314,982
l2gdhl(E - & - 3) 3,286,428 3,601,410 A314,982
201 et 3| 1,809,201 2,040,372 AZ31,171
01 AlR22IH| 648,348 750,53 A102,187
OYBtEEH| ZoUH A
272,584,000 x14] 272,584
O=2g+g SUAY 117,480,000 14| 117,480
OlLl=Hl SHAH 840,000+ 14! 840
Ornl=HI(S2A) 5,880,000 * 14 5,880
Osgtl S9A& 200,564,000 x14] 200,564
OeXtE SHUAH & 51,000,000 * 14| 51,000
2 s5=34l 1,160,853 1,289,837 128,984
O==2= € MAl S9N
630,643,000 * 14 630,643
O¢zdl XA 12,800,000 * 14! 12,800
OAIZEHISXIH SHUA &
218,010,000 x14] 218,010
OXte - 8| SHAH
296,400,000 x 14 296,400
OSHETSHA A TADIA AIE2ES
1,500,000 *20H 2 3,000
202 04| 1,170,407 1,247,841 NTT,434
01 =LHO LI 100,007 112,641 A12,634
O=LH0HI SHA & 100,007,000 * 14! 100,007
02 XN 1,070,400 1,135,200 /64,800
OZH0Hl SHA &
200,0002 x446H 122 1,070,400
203 2=l 306,820 313,197 26,377
01 J[2=2EHRFA| 180,800 180,800 0
OSHsSH(21+ 32t 0/
165,000,000 165,000
OuEsE, NXSHE(Q!7 88t olet)
15,800,000 15,800
02 H3ItaHA 2F&| 14,000 15,577 A1,577
O8 - ¥ - SASAH ADIARZH(HR 55
%) 14,000,000 * 14} 14,000
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el JI2dHl(S - ¥ - 8) (CH9: &S1)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
04 EASHAL2FKIH] 112,020 116,820 A4,800
OH (30" =1}
(400,0002+(5,0002 x2H ) )x 1 H* 12 4,920
OS(30¥ olat) 400,000 =20l S8+ 128 9,600
OH - =(259 0lal)
350,0002*x7HH S~ 128 29,400
OH - =(20¥ 0lat)
300,000 +x7HH =+ 128 25,200
O=(15Y 0lat) 250,000 x 1000 =+ 128 30,000
O=HA(1020l5})
175,0002 1) H* 128 2,100
O=&A(5H 0ldt)
100,000& x9S H =128 10,800




